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3 (Sem~4/CBCS) CHE HG/RC. -
CHEMISTRY '
(Honours Generic/ Regular)
Paper : CHE-HG-4016/CHE-RC-4016
Full Marks : 6() | '
Time : Three hours

The ﬁgures in the margin indicate
Jull marks for the questions

Answer either in Engllsh or in Assamese

1. Answer the following questions : 1x7=7 |
S fiat enrea e fo -

(a) What is the value of ionic product of
water at 25°C? :
25°c€mmﬁﬁawﬁmwmﬁmé

(b) . Name one reducing disaccharide.. | .
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(c)
© - Clausius- Clapeyron ‘equation.
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_Write the matheématical expression of

Out of formic acid and acetic acid which
one. wouId you expect to react with
Tollen’s reagent ?

'mﬁwﬁsmaemqew—w—mm |
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Draw the primary ".structure of protein.

aftew o o foa i

The -Gibbs’ f)haserule is .
mmmz’a
fi) F C- P+1 -

(i) F=P-C+1 T

(i) F=C-P+2"

i) F=P-C+2
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2.

”(g.). Which one of the following amines will

not show carbylamine test ? .

o @mﬁmﬁmaﬁ%mﬁ?w@w ﬂmaam? |

) CH3NH2 L

(i) CH,CH,NH,

(i) (CH;),NH

(iv) (CHj;), CHNH,

Answer the‘following questions : - - 2x4=8

(a) Write the number of phases and number

of components present in the followmg
system

Wﬁmwmﬂ\ﬂnwﬁmwﬂm |

.ﬁms

(b)

(i) Nz(g) + 3H2(g)x—2NH3(g)

A (u) Solution of acetlc acid in water

o e abe

How does ‘the molar conductivity of a

Weak electrolyte vary Wlth d11ut10n ?
Explam ~
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How would you convert p—mtrobenzoyl
chlaride to p-nitrobenzaldehyde ?

"pﬂ@mwmpﬂﬁ@maﬁmﬁﬁa | |
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_Ammo acids have excepnonally low K,

‘and K, values Why? ,
-'«sﬁa%msg«gmxgmm@wﬁm .

Answer the 'foilovving questions : ?any three)

- 9%x3=15

Wﬁmwwm (ﬁza/zarf@ﬁ?r)

(a)

(b)
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What is tertxary structure of protem ?
'Mention different types of interactions

' .1nvolved in tertiary. structure of protein. -

1+4=5

2T R 5 o ot B e

ﬁwmlwam%masﬁm?

Draw and explain the. phase diagram of
water system. Why is the phase diagram

.of water system different from that of

other one component system.

2+2+1=5 - 7
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(c).

(d)

(©
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Give five points each of similarity and
dissimilarity. between glucose and»
fructose.

.'@’@Wﬁmﬁmmmm
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Explain the principle of conductometric

' titration of a strong acid vs. strong base.
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At 25°C, the specific conductance of
carefully distilled water is 58.0x107 Sm! .
and the A°m values for H* and OH- ions

‘are 349.8x10% Sm?mol! and 198.5% 10'4
. Sm?mol-! respectively. Assuming that A

differs very little from A? , calculate the
ionic¢ product of water at 25°C

25°C TawoTS HRANH AAfeS T AT [T

. ARSI 58.0x107 Sm! [SIGH H* S OH-

IR A° -3 W T 349.8x 10~ Sm2mol-!

- SIF 198.5x10% .Sm2mol i i A W% A°_J

wmmmmmzycw
WW@WWWWl .
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Answer the followmg questlons (any three)

10x3=30

Tﬁmm%@aﬁm (Rt fofbn)

(a)

Discuss how the primary structure of

. peptide is deterniined.

cﬂvfﬁ%eﬁﬂ%ﬂhﬁs@ﬁﬁwmw |
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(b)

e

(i) Explam a methoa of conversion of
-glucose into arabinose. . S

B qas’wmﬁﬂ’@taammwuﬂﬁ%ﬁ
PG -

(i) Howis benzenediazonium chloride
- prepared ?-How is it converted to

benzene, phenol and p-hydroxyazo. .

" benzene ? - 2+3=5

RN SROTREN 93T RWE okge
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Discuss the mechanism of the following
conversions : 5%2=10

oS Tl FARRRIRE RERR i o ¢

() Benzaldehyde to cinnamic acid
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(i) Acetamide to méthanamine

- ABARTT AR

What is eutectic point? Draw and -
explain the phase diagram of Pb-Ag
system. Write two uses of eutectic
mixtures.

Socoaos g 2 Pb-Ag UE oRgl 5 SRS

et 1 R e 1 R B

(i) Whatis meant by transport number -
. of an ion ? Explain the method of
. its determination by moving

' boundary method. ' 2+5=7

| IR RIS, T R @t e vewe
WWWW@&IW@W
F_qAL -

i) A moving boundary experirnent was
carried out with 0.01M solution of
KCl (spemﬁc conductance = 1.29
Sm!) using €dCl, as the indicator

" electrolyte. A current of 5.21 mA
was passed through the tube of
0.230cm? cross-sectional area. It

.was observed that the boundary

moved through 4.16cm in lh.
.Calculate the mobility of K* ion. -

‘ ‘ 3

Cohid.

1+(3+4)+2=10 -



CdCL? B Riye Rty B gv29.
,'asﬁo 01MAAFoR KCI% (RS »ifRaifzel
= 1.29 Sm’) SOIR G +ARR o
I 9 R AWIBIE 0.230 om?
 CREIFTR T 5.2 mA BIR SR =T <
2211 2T FTe 9T ThIe ARRYH
4, 16m@%t€f®|ai‘@mﬁﬁaw
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(ﬂ Defme critical solution temperature.
- What do you mean by upper critical
- solution temperature and lower critical
solution temperature ? Explain the
phenol-water blnary system. Explain the

effect of impurities on critical solution -
temperature. 1+2+45+2=10

Wmﬁxﬁwwmﬁm@a’mmﬁ

%mwﬁw%mﬁwqﬁmﬁsw?
fRFET-oAIa e etteereres o ey <vat 1 s et
‘Wemwﬁwmmwl

3(Sem~4/CBCS) CHE HO/RC/G - 8- - 5000



